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INSTRUCTIONS

Answer all questions.

All questions carry equal marks.
Only one answer is to be given for
each question.

If more than one answers are
marked, it would be treated as
WIong answer.

Each question has four alternative
responses marked serially as 1, 2,
3, 4. You have to darken only one

“circle or bubble indicating the

correct answer on the Answer Sheet
using BLUE BALL POINT PEN.
1/3 part of the mark(s) of each
question will be deducted for each

- wrong answer. (A wrong answer
_means an incorrect answer or more

than one answers for-any question.

. Leaving all the relevant circles or

bubbles of any question blank will
not be considered as wrong answer.)
The candidate should ensure that
Series Code of the Question Paper
Booklet and Answer Sheet must be
same after opening the envelopes.
In case they are different, a
candidate must obtain another
question paper of the same series.
Candidate himself shall be
responsible for ensuring this.

8.

10.

Mobile Phone or any other
electronic  gadget in the
examination hall is strictly
prohibited. A candidate found with
any of such objectionable material
with him/her will be strictly dealt
as per rules.

Please cirrectly fill your. Roll
Number in O.M.R. Sheet. 5 marks
will be deducted for filling wrong

or incomplete Roll Number.

If there is any sort of ambiguity/
mistake either of printing or factual
nature then out of Hindi and
English Version of the question, the
English Version will be treated as
standard.

Warning : If a candidate is found

copying or if any unquthorised
material is found in his/her
possession, FLR. would be lodged
against him/her in the Police
Station and he/she would liable
fo be prosecuted under Section 3
of the R.P.E. (Prevention of
Unfairmeans) Act, 1992.
Commission may also debar hinm/
her permanently from all future
examinations of the Commission.
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Choose the Correct Option
1 Are you sure there arn't —— — _ more letters to post ?
(I) much (2) very

(3) any | @ little

2  How time do we have to iolve the problem ?
(1) much | (2) many
(3) more o (4)  less
3 How times have I asked you not to waste your precious

resources ?

(1) much (2) many
- (3) few (4) often
4 A still remains to be done,
(1) quite ' 2) few
(3) ot ) lots

5 few students who had waited, also left after a while.
() The | (2) No
(3) Most 4) Very
6 A knowledge is a dangerous thing,
(1) few (2) little
(3) most ' (4) short
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of my books is still missing.
(1) None (2) Few
(3) One (4) Many
8 They left about —————— hour ago.
(1) =2 (2) an
(3) the . 4 few
9 All of us were surprised ————— his attitude.
(1) with ' {2) at

(3) on - (4) - upon

10  She congratulated him his success.

(1) on (2) from
(3) at (4) about

11 We were invited ————— tea on her birthday.
(1) upon @) with
(3) to (4) on

12 We should not interfere ————— other people's lives.
(1) for : (2) at
(3) over 4) in

13 The building was soon covered — . flames.
(1) of (2) with |
(3) over (4) into
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14  The cat jumped —_______ the table.
(1) into (2) by

(3) upon (4) within

IS We should always believe ~——— ourselves.
{1) on (2) with

@) by @ in

16 He threw the ball high in the air.
(1) wp (2) over
(3) above (4)- across

17 Unless he

~ harder, he will not succeed.
(1) tried (2) tries
(3) will tries 4) is try

18 ______ ___ they left early, they would have reached by now.
(1) Have (2) Had

(3) Would (4) Must

19 Many of us have __________ since morning.
(1) been waited (2) been waiting

(3) been wait (4) waiting
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20 she go to the library everyday ?
(1) Does | (20 Do
3) Is {(4) Has
21 If it rains, the college will —_ closed.
(1) being (2) be
(3) surely (4) must
22 He Delhi in 2010.
(1) Thas left (2) was leaving
(3) had left (4) left
23 He a line across the page.
(1) drawing .(2) drawn
(3) drew (4) drawed
24 I have not the Tag.
(1) see (2) seen
(3) been (4) gone
25 One of my friends going to,k America.
(1) are @ s
(3) were (4) have beer
HB92 _A] 5
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I like to read this new book.
(1) would (2) could
(3) «can (4) shall

You ___ __ seea doctdr soon.’

(1) would (2} should
(3) need (4) used to
The Constitution states that there be elections every five years.
(1) used to (2) would

(3) shall : (4) need

you lend me your notes, please ?
(1) may (2) can
(3) should (4) must

Candidates ________ show their identity cards before entering the

examination hall,
(1) are (2) ought
(3) must (4) need

The Active of - "The letter was written in blood." is -
(1) She wrote a blbody letter.

(2) She was writing letters in blood.

(3) She wrote the letter in blood.

(4) In blood was the letter written.
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| 32 The Active transformation of - "I was kept awake by the noise of the
traffic.” is :

(1) The traffic noise kept me awake.
(2) The noise of the traffic kept me awake.
(3) The traffic noise made me keep awake.

(4) ' The traffic kept me awake.

33 The Passive voice of - "God helps those who help themselves." is :
(1) Those who help themselves will be helped by God.
(2) Those whol help themselves are helped By God.
(3) They are helped by God who have helped themselves.

(4) Who help themselves they hélped by God.

34 The Passive transformation of - "Everyone considers education (to be)
a prime necessity." is : '

(1) Education is considered (to be) a prime necessity.
(2) Education is being considered (to be) a prime necessity.
(3) They are considering education to be a prime necessity;

(4) Education consider to be a prime necessity by them.

35 The Indirect narration of - She said, "You must not break your

promise." is :

(1} She said to me that 1 had not brokeg_:my promise.
(2) She told me that I must not break my promise.
(3) She warned me that I should keep my promise.
{4) She said to me that I should not break promises.

HB92 A 7 [ Contd...
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36 The Indirect transformation of - She said to the boy, "How much do
you expect to earn ?" is -

(1) She asked the boy how much did he expected to eam.
(2) She asked the boy how much did he expect to-earn,
(3) She asked the boy how much he expects earning.

(4) She asked the boy how much does he expect to earning.

37 The Negative of - "I have seen you somewhere before." is -
(1) I have not seen you somewhere before.
(2) I did not see you earlier.
(3) I have not seen you anywhere before,

(4) I have not seen you before.

38  The Interrogative of - "You had a comfortable journey.."' .is
(1) Had you had a comfortable journey ? |
(2) Have you a comfortable journey ?
.(3) Had you a comfortable joui’_ney ?

(4) Did you have a comfortable journey ?

39 The Simple sentence form of - "Those who are helpless déserve our
sympathy." -

(1) Those who are helpless are to be sympathised.
(2) They are helpless and they deserve our sympathy.
(3) The heipless deserve our sympathy.

(4) They who are helpless deserve sympathy.

HB92 A] 8 - B [ Contd...
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The Complex sentence form of - "Speak the truth and you will never
regret it." is :

(1) If you speak the truth you will never regret’it.
(2) 1If you speak truth you never regret it.
(3) Unless you speak the truth you will never regret it.

(4) Speak the truth or regret it forever,

"To shed crocodile tears' meaﬁs to :

(1) get hysterical

(2) worry about the extinctidn of animals
(3) be hypocritical to shed false tears

(4) sincerely grieve for something

"The two brothers —___ over property dispute.

(1) falls out (2) fell out
(3) fell on (4) fell off

"To call a spade, a spade” means :

- (1) to play cards

(2) to be arrogant and adamant
(3) to speak without mincing words

(4) to be confident of yourself.

He has _ ___ a new business estaﬁiishment.
(1) set out (2) set in
(3) set down (4) set up
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Read the following passage and answer the questions given below it :

45

46

47

48

49

To forgive an injury is often considered a sign of weakness;
it is actually a sign of strength. It is easy to allow oneself to be
carried away by resentment and hate into an act of vengeance but
it takes a strong character to restrain those passions. The man who
forgives an injury proves himself to be superior to the man who
wronged him and puts the wrong doer to shame.

"To forgive an injury' is really a sign of :

(1) weakness )

3) helplessness (4y

The expression 'passions' refers to °

(1) the habit of forgiveness (2)

(3) hating someone 4)

The phrase "carried away" means :

(1) to win @
(3) to be influenced by " (4)

The word 'vengeance' means :

(1) mercy ) {(2)
(3) violence )]

The opposite of 'Shame’ is :

(1) disgrace 2)

(3) humiliation (@)

HB92 A] 10

strength

passivity .

the feeling of bitterness

feeling bitter and hating (someone)

to continue

to take away

torture

~revenge

honour

embarrassment
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Read the passage given below and answer the questions that follow :

One of the important humanitarian. by-products of technology

is the greater dignity and value it imparts to human labour. In a

highly industrialised society, there is no essential difference between

P R L L e —

Brahmin and Dalit Muslim and Hindu. They are equally useful and
hence equally valuable, for in the industrial society individual |
productivity fixes the size of the pay cheque and this fixes social

status.

50 The most suitable title for the precis of Fhe passage would be :
(1) Industrial society : A great supporter
(2) Technology as basis of individual status
(3) Casteless Society

(4) Dignity of human labour

51 The best option for reducing the underlined portion will be :
(1) Sectarian society - (2) Secular society

(3) Socialistic society (4) Aristocratic society

52 The length of the precis of this passage would be :
(1) 40 words (2) 10 words
(3) 20-22 words . (4) 60 words

HB92 A] 11 | Contd...



53 The tone and style of a business letter should be :
(1) scholarly and erudite
(2) full of impressive similes and metaphors
(3) friendly and courteous

(4) vague and abstract

54  Letters of invitation to parties, birthday celebrations and family get

togethers are :

(1)  social (2) formal

(3) indifferent (4) personal

35 A good Report should be free from -
(1) clarity
._-‘_-E,E,f\_ .
(2) conciseness

(3) facts leading to a conclusion

(4) personal bias and prejudices.

HB92 A] 12 [ Contd...




Graduation Level

56. Miiton's "On His Blindness" is :
(1) a Spenserian Sonnet (2) a Petrarchan Sonnet

(3) an Occitan Sonnet (4) a Formalist Sonnet

57 In line 3 of his "On His Blindness" Milton speaks of ‘one talent'.
What is it ? -

(1) his faith (2) his patience

(3) his poetic ability (4) his tenacity

58 "They also serve who only stand and wait". In this line from "On His
Blindness" ‘they' stands for those who

(1) worship God
(2) praise God in their poems
(3)' patiently accept the decree of God

(4) make use of their poetic talent

50 The theme of Donne's "Go and Catch a Falling Star" is the
~ impossibility of: -

(1) catching a falling star
(2) getting a child from a mandrake root
(3) hearing mermaids sing

(4) finding a true woman
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The tone of Donne's poem "Go and Catch a Falling Star” is :
(1) mystical (2) cynical

(3) manipulative 4 religious

Wordsworth compares the stretch of daffodils in his poem "Daffodiis' to :
(1) the twinkling of stars in the Milky Way

(2) flood of waves in the ocean

(3) .swarm of birds in the evening sky

(4) strewn leaves in Autumn

The figure of speech used in “Tossing their heads in sprightly dance”
in 'Daffodils' is : ‘

(1) simile (2) metaphor

(3) personification (4) hyperbole

Wordsworth recollects the daffodils in :
(1)  summer evenings

(2) a vacant and pensive mood

(3) his old age

(4) the company of others

The first image that Shelley visualizes in the "Ode to the West Wind"
Is of :

(1) an enchanter (2) a fierce Maenad

(3) the blue Mediterranean (4) a comrade of his wanderings
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What does Shelley ask the West Wind to do by the incantation of
his verse ?

(1) revive his fallen spirits
(2) hasten the cycle of seasong
(3) be a trumpet of prophecy

(4) unchain him from the bonds of time

According to Shelley the West Wind is the breath of :
(1)  Summer (2) Autumn

(3) Spring ‘ (4) Winter

The description that does not refer to Keats' Grecian Urn is :
(1) a sylvian historian (2) an attic shape

(3) a cold pastoral (4) a mysterious priest

To what kind of an altar does the priest lead the garlanded heifer in
Keats' "Ode on a Grecian Urp" ?

(1) a small town church (2) a green altar

(3) an altar in Arcady - (4) a breeded altar

In the poem "My Last Duchess" by Browning, the speaker addresses his
monologue to -

(1)  the portrait of the Duchess
(2) the Count
(3) the messenger of the Count

(4) an imaginary audience

HB92 A] 15 [ Contd...



70 Who had cast Neptune for the Duke in Browning's "My Last Duchess" ?
(1) Fra Pandolf (2) Claus of Innsbruck
(3) The company below (4) A local artisan

71 How long did the sting of the poison last in Nissim Ezekiel's poem “Night
of the Scorpion” ? :

(1) - all night long (2) twenty hours
(3) the whole day (4) unbearably long

72 What did the husband do as a last resort to remove the sting of the
“scorpion in Ezekiel's poem "Night of the Scorpion" ?

(1) used powders mixtures and herb
(2) let the stlng die out on its own
(3) cursed his wife for the tragedy

(4) poured paraffin and put a match to it

73 At the end of the poem "The Night of the Scorpion” the mother s happy
because :

(1) the effect of the poison waned
(2) the villagers were so sympathetic
(3) the scorpion spared her children

(4) her husband took care of her

74  Where were the eunuchs dancing in Kamala Das' poem "The Dance of
the Eunuchs" ?

(1) amidst the funeral pyres
(2) under the fiery gulmohar
(3) in the garden

(4) by the riverside
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75 What does the impassioned dancing of the eunuchs reflect in Kamala
Das' poem ?

(1) their inner emptiness and melancholy
(2) their fervour and their gusto
(3) their unquenching zeal and _enthusiﬁsm

‘(4) their happiness and contentment

76  What do the witches prophecy to Banguo on the heath in
Shakespear's "Macbeth" ?

- (1) that he will rule the kingdom
(2) that his children will be kings
(3) that he will be less great and happy than Macbeth

(4) that he is a mere foil to Macbeth

77 ..The guilty conscience of Macbeth is revealed in
(1) The Porter Scene
(2) The Banquet Scene
(3) The Sleepwalking Scene

(4) The second meeting with the witches

78 Why was Macduff able to kill Macbeth despite the Withes' prophecy in.
"Macbeth" ?

(1) he killed the Withes first
(2) he received a charm from Grinswindle
(3) he was a very powerful warrior

(4) he was born by cesarean section

HBY2 A} 17 - [Contd...



79  How did Birnam Wood come to Dunsinane in Shakeshpeare's "Macbeth" ?
(1) the witches carried it -there
(2) the foul weather caused an upheaval
(3) Malcolm's army marched behind its cut-branches

(4) Through an exchange of lands afier victory

80 Macbeth utters his soliloque "Tomorrow and tomorrow and tomorrow"
when :

(1) he comes to know the truth about Macduff
(2) * he receives the news of Lady Macbeth's death
(3) Birnam Wood comes to Dunsinane

(4) Malcolm and Siward enter the castle

81 What name does Rosalind assume for her disguised self in
"As You Like it" ?

(1) Jove (2) ~ Harry
(3) Ganymede (4) Icarus

82 What does the disguised Rosalind promise to do for Orlando in
"As You Like It" ?

(1) help him overcome his love sickness
(2) woo Rosalind, on his behalf
(3) help him to overthrow his brother, Oliver
(4) provide him and Adam shelter
83 With whom does Oliver fall in love in "As You Like It" ?
(1) Rosalind {2) Phoebe
(3) Audrey (4) Aliena
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Who, in Shakespeare's "As You Like It", 'can suck melancholy out of

a song'?
(1) Celia _ (2) Touchstone
(3) Jagues (4) Duke Senior

How does Rosalmd respond to Orlendo when he contends that he will
die unless she returns his love in "As You Like It" ?

(I) She compares him to the great lovers of classical literature
(2) She suggests that she is not worthy of such devotion
(3) She vows to kill herself before his. dying body hits the ground

(4) She assures him that no man has ever died of love

According to Bacon, how do sfudies serve us 7
(1) for mershalling one's affairs skillfully

(2) for judging impartially

3) for delight, ornament and ability

(4) for making the best use of time

What is the difference between crafty men and wise men as far as studies
are concerned according to Bacon ?

(1)  Crafty men use them and the wise believe they are above studles
(2) Crafty men condemn studies and the wise men use them
(3) Crafty men use studies creokedly and the wise straxghtforwardly

(4) Crafty men mampulate learning and the wise are manipulated by it
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92

How does 'writing' help a man's personality according to Bacon ¢
(1) it maketh him a full man

(2) it maketh him a ready man

(3) it maketh him a perfect man

(4) it maketh him an exact man

What lesson do the young chimney 'sweepers' give us according to Lamb ?
(1) of patience , (2) of early rising

(3) of hardwork _ (4) of sportiveness

The annual feast for the Chimney Sweepers was arranged by in
Lamb's essay "In Praise of Chimney Sweepers".

(1) the author (2) Madam Urshula
(3) Jem White 4) Bigod

At the opening of the novel "The Mayor of Casterbridge" what is Michael
Henchard's occupation ? '

(1) shepherd : (2) farmer.

(3) balladeer (4) haytrasser

In a letter written on her death-bed, what does Susan confess to her
husband in "The “Mayor of Casterbridge" ?

(1) She and Elizabeth - Jane were abused by the man to whom
Henchard sold them
A
(2) She had amassed a great fortune after being sold
(3) Elizabeth - Jané was not his daughtcr

{(4) She never loved him
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What is the name of the ceremony the townspeople perform to shame
Lacelta in "The Mayor of Casterbridge" ?

(1) Harlot's Parade (2) Skimmity Ride

{3) Swoon - bumple (4) Smuthing

What does the 'will' of Henchard not say in Hardy's "The Mayof of
Casterbridge" ? '

(1) that no man remember him
(2) that Elizabeth - Jane Farfrae be told about his death
(3) that no flowers be planted on his grave

(4) that no sexton be asked to toll the bell

To which Biblical figure does Henchard compare himself in his suffering
in "The Mayor of Casterbridge" ?

(1) Cain (2) Jesus

(3) Job (4) Moses

What is the main issue in R. K. Narayan's novel "The Vendor of Sweets" ?
(1) inflation (2) generation gap

(3) industrialization 4) drunkeq_jg‘gss

Jagan, in "The Vendor of Sweets", learnt maﬁi}lg sweets in :
(1) school (2) his house

(3) jail (4) Malgudi
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98 The name of Jagan's book which was in the press in "The Vendor
of Sweets" was :

(1) Message of the Gita (2) The system of Education

(3) Gandhi and his philosophy (4) Nature cure and Natural Diet

99  Jagan in "The Vendor of Sweets" decided to leave his business because :
(1} his son Mali was in jail |
(2) Mali and Grace were living a sinful life
(3) Chinna Dorai changed his mind

(4} the sweet vendors of Malgudi compelled him

160 What does Mali want to invest in "The Vendor of Sweets" ?
(1} a multicuisine restaurant (2) a chain of hotels

3) a machine-factory (4) his father's land

101 A poem in which epic cbnventions are subverted is :
(1)  sub-epical poem (2) anti-epical poem

(3) mocking-epic (4) mock-heroic epic

102 A figure of speech in which there is an exaggerated statement not to
be taken literaily is

(1) hyperbole (2) synecdoche

(3) euphemism ' (4) collage

103 "He is the Newton of this century”. This is an example of g -

{1} simile (2) synecdoche
(3) transferred epithet (4) hyperbole
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(1) am elegy

(3) allegory

A long lyric poem, serious in subject matter, elevated in style, elaborate

In its stanzaic structure Is :

(2) a lyric

(3) an ode (4) a dramatic monologue

"Can honour's voice provoke the silent dust” is an example of :

(1) metonomy (2) personification

(4) metaphor

Choose the correct phonetic transcription - WHEAT
(1) | wit | - (2) | wit |-
(3) | wit | 4 | weat |

Choose the correct phonetic transcription - REACH
(1) | ritf | (2) | riitf |
(3) | ritf | (4) | reetf |

Choose the correct phonetic transcription - MORAL
(1) | mg:rrgl | (2) | mergl |
(3) | maurgl | 4) |myiry |

The correct stress in Decoration is on :
(1) ‘'Decoration (2) Deco'ration
(3) Decora'tion (4) Decoration'
The correct stress in Contemplate is on :

(1) 'Contemplate (2) Con'template

(3) Co'ntemplate (4) Conte'mplate
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111 The Grail legend in T. S. Eliot's "The Waste Land" is taken from”
(1)'- Jeséie L. Weston's "From Ritual to Romance"
(2) Dante's "The Divine Comedy"
(3) Chaucer's "Prologue to the Cantebury Tales"
(4) Ovids "Metamorphosis”

112 The last lines of the poem "The Waste Land" make use of the scriptura
writing from :

(1) Buddha's "Fire Sermon"
(2) Edmund Spenser's "Prothalamion®
(3) "Brihadaranyaka Upnishad"

(4) James Frazer's "The Golden Bough"

113 The fourth section of the poem "The Waste Land" is titled o
(1) What the Thunder Said (2) Death by Water

(3) A Game of Chess (4) The Fire Sermon

114 "The Birthday Party" by Harold Pinter is a -
(1) - Tragicomedy (2) Comedy

(3) Comedy of Menace (4) Farce

115 Stanley Webb.er in Pinter's "The Birthday Party" is :
() a heavyweight champion |
{2) an erstwhile piano player
(3) a stock-broker

(4) a life-insurance agent
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11'6 ‘Maya in Anita Desai's "Cry, Thé Peacock" is haunted by :

(1) memories of a loving mother

LIEsnn s

(2) childhood prophecy of a fatal disaster
(3) an affair from her past

~(4)- ghosts and devils

- 117 What does Maya in "Cry, The Peacock" yearn for 7
(1) money and fame (2) social prestige

(3) love and respect (4) long-lost lover
118 A stable natural language that develops from a pidgin is :
.{1) Hinglish (2) Creole

(3) Isogloss ' (4) Code-mixing

119 "Life ko face kijiye with himmat and faith in apane aap" is an example

of:
(1) pidgin . (2) code-switching
3) diglo.ssia (4) creole

120 "Code-Mixing" is :
(1) being able to use many languag.es fluently
(2) using' words from ohe language only
(3) making use of reduced structures only

(4) using words from two languages together.
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121 At what age bones grow and develop rapidly ?
(1) pre-~childhood (2) childhood

(3) later-childhood (4) adolescence

122 The effective school holds high expectations from teachers, students and

parents for :
(1) Learning | (2) Team work

(3) Instruction © (4 Questioning

123 Jean Piaget development theory is :
(1) Cognitive development
(2) Intellectual development

(3) Social development

(4) Emotional development

124 At what age range the mental development of an individual attains full

maturity ?
(1) 20 to 40 years (2) 40 to 50 years
(3) 10 to 20 years (4) 15 to 25 years

125 Who said, "Psychology has a long past but a short history" ?

(1) Stanley Hall - (2) Skinner
(3) Ebbinghaus | (4) Titchener
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/126 We like a teacher who is |
?g (1)  strict (2) rigid
i |
f (3) considerate (4) flexible

Rt vy

127 The example of intrinsic motivation is -

an

i (1) praise (2) satisfaction

(3) grades (4) promotion

128 Which of the following factor does not change our behaviour ?
(1) Process of natural growth (2) Fatigue

(3) Development (4) Maturation

129 The learning situation out of the following is :
(1) Emotional environment of the school
(2) The personality of students is not good
(3) The classroom arrangements not suitable for learners

(4) Teacher's attitude is not positive

130 Highest effect on students' learning in the classroom is
(1) class discipline
(2} psychological climate of the class
(3) social climate of the class

(4) economic climate of the class
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A man reflects his anger from his boss to his child. It js an example of :
(1) Projection (2) Reaction formation

(3) Displacement - (4) Regression

According to Silverman, relative technology is known as :
(1) Hardware approach (2) Software approach

(3) System approach (4) Constructive approach

In communication process, letter, E-mail, telephone are examples of :
(1) message (2) feedback

(3) medium (4)  encoding

Errors in computer programmes are called -
(1) PFoliies (2) Mistakes
3) Spam (4) Bugs

Which of the following st‘atement_ is correct with réference to reinforcement ?
(1) The effects of reinforcement are automatic

(2) Negative reinforcement discontinue unwanted behaviour

3) Reinforcement is related to the desirable behaviour

(4) Above all

According to Gastalt theory there are some primary factors that determine
grouping. Which’*6%" the following is not one of them 2

(1) Complexity (2) Proximity

3) Simillarity (4)  Simplicity
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137 Learning is the modification of behaviour through

=

L LITEETE T
™,

(1) maturity (2) motivation

i (3) activities and experience (4) emotion

138 Which of the following models of Emotional Intelligence was proposed
by K. V. Petrides ?

| (1) Ability Model (2) Trait Model
(3) Mixed Model (4) All of these

139 Dramatisation affect which of the following domains ?
Select the answer from the codés given below :
(a) Cognitive
(b) Affective

(c¢) Psychomotor

Codes :
(1) Only (a) ; (2) (a) and (b)
(3) Only (b) - (4 (a), (b) and (c)

140 The three major aspects of moral development are :
(1) Stimulus, response and conseguences
(2) 1d, ego and superego o
(3) Individual, family and society
(4) Thoughts, behaviours and feelings

ks

141 Who wrote "Learning is connecting. The mind is man's connection

system 7"
(1) Thomdike (2) Skinner
(3) Pavlov (4) Koftka
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142 Which of the following is not a correct pair ?
(1) Gestalt - Kohler
(2) Functionalism - John Dewey
(3) Behaviourism - Watson
(4) Structuralism - Thorndike
143 The concern of mental hygiene is to :
(1) develop high earﬁing person
(2) develop -religious person -
(3) develop well—-ﬁdjusted‘ personalities
(4) isolate mentally sick person
144 Which of the following is not the indirect method of fension reduction ?
(1) Sublimation (2) Surmise
(3) Identification (4) Rationalization
145 The concept which does not belong to the "Advance Organizer Model" ?
(1) Teaching
(2) Learning.
(3) Instruction
(4) Concerned with syllabus ' construction
146 'Cognative development is a comprehensive theory about the nature and
development of Human intelligence.! Who gave this definition ?
(1) Watson (2) Hall
(3) Levin (4) Jean Piaget
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147 Which of the following characteristic is not clearly seen in adolescence ?

0y
@
®
@

Abstract thinking
Relatively higher ability of powér of reasoning
Concrete thinking

Capability to concentrate on studies and greater ability of memory

expansion

148 Which of the following is not a Bruner's statement ?

¢y
(2)

3)

4

Learning - sequencing information activity

Organisation and structuring of learning is uniquely done by each

person

Knowledge selectively concentrate attention towards interaction of

environment and organises the information obtained

Facts are obtained from inactive relations.

149 Which of the following does not belong to a teaching theory ?

m
)
®)
“

Nature of a person as recipient of knowledge
Nature of knowledge
Nature of process of gaining knowledge

Nature of the person bringing change in the behaviour of the person

gaining knowledge

Ay

150 The term 'Behaviourism' was first given by'™

1)
3)

HBY2 A]

David Ausubel (2) E. L. Thorndike
B. E Skinner (4) J. B. Watson
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